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1. Put the following in scientific notation
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6. What is Avogadro’s number? (, o, wg“ > O H x lb = L

7. How many molecules are in 1 mole of wa}%‘r'?
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9. How many moles are in 12.4 g NayO?
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10. How many moles are in 327.6 g Ca:;f’lz? 2.0 L2
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11. How many grams are in 0.249 mol Fe2037 : y
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12. How many grams are in 0.486 mol NaCl? R;'u
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13. If a drop of water weighs 1 g for every mL, how many H»O molecules are in that drop?
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14. Calculate the percent composition of diphosphorus pentoxide? f ;bog—

P ‘r". =R UL .
v /P o= T xwe e = 43, 0
| . 42
: 7 Y 7. O = 80 y Jou't T 5.3/

, C X L L
O < 1% O 2




15. Calculate the percent composition of potassium in KNO3?
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17. Write the emplrlcal formula for the following (.‘I}.],DR‘—PCdl formulas.
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18. A compound consists of 12.5% H, 37.5%C, and 50.0% O. Find the empirical formula.
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9) Lithylene, aSgd‘; used extensively in preparing plastics and other polymers, has a composition of
85.7% carbon and 14.3% hydrogen. Its molar mass is 28.0 g. Find the molecular formula for
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20. A compound with an empirical formula of CH is found to have a molar mass of 26.0 g/mol. What is
its molecular formula?
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21. A white powder is analyzed and found to have an empirical formula of P2Os. The compound has a
molar mass of 284 g/mol. What is the compound’s molecular formula?
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